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ANSWER KEY

TOPICWISE EXAM - 11

23.  b) 20) 20) 20) 20) 20

        NXp-c-Øns‚ ]c-∏-fhv  =   lxb = 200cm2

           NXp-c-Øns‚ Np‰-fhv = 2(lxb) = 60cm
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                                  20x10 = 200cm2

                                 20+10 = 30cm

24. c) 410 ao) 410 ao) 410 ao) 410 ao) 410 ao

         NXp-c-Øns‚ Np‰-fhv = 2(lxb)

                                                  = 2(120+85)

                                                  = 2(205)

                                                  = 410

25. a) 1 ao‰¿) 1 ao‰¿) 1 ao‰¿) 1 ao‰¿) 1 ao‰¿

            Np‰-fhv = 2(l+b) = 6

                                        l+b = 3

         hnkvXo¿Ww = lxb = 2m

                                   (l-b)2 = (l+b)2 - 4lb

                                            = 32 - 4x2

                                            = 9-8 = 1

26. c) 32%) 32%) 32%) 32%) 32%

                x + y + xy  = 10+20+  20x10

                            100                      100

                                    = 32%


